



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(-5)^{(-1)} - 5 =$$

$$(-5)^2 + 2 =$$

$$(-5)^2 + 7 =$$

$$(-10)^2 - 6 =$$

$$5^{(-1)} + (-8) =$$

$$5^2 - (-6) =$$

$$(-4)^{(-1)} - (-7) =$$

$$(-8)^{(-2)} - (-7) =$$

$$5^{(-1)} - (-1) =$$

$$(-2)^{(-2)} - 7 =$$

$$10^{(-1)} - 10 =$$

$$(-4)^{(-1)} - 1 =$$

$$5^0 + (-9) =$$

$$6^0 - 3 =$$

$$5^{(-1)} + 1 =$$

$$10^0 - 3 =$$

$$(-9)^2 + 1 =$$

$$(-4)^2 - 10 =$$

$$8^{(-1)} + 8 =$$

$$(-2)^2 + 5 =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(-5)^{(-1)} - 5 = \left(-\frac{26}{5}\right) = \left(-5\frac{1}{5}\right)$$

$$(-5)^2 + 2 = 27$$

$$(-5)^2 + 7 = 32$$

$$(-10)^2 - 6 = 94$$

$$5^{(-1)} + (-8) = \left(-\frac{39}{5}\right) = \left(-7\frac{4}{5}\right)$$

$$5^2 - (-6) = 31$$

$$(-4)^{(-1)} - (-7) = \frac{27}{4} = 6\frac{3}{4}$$

$$(-8)^{(-2)} - (-7) = \frac{449}{64} = 7\frac{1}{64}$$

$$5^{(-1)} - (-1) = \frac{6}{5} = 1\frac{1}{5}$$

$$(-2)^{(-2)} - 7 = \left(-\frac{27}{4}\right) = \left(-6\frac{3}{4}\right)$$

$$10^{(-1)} - 10 = \left(-\frac{99}{10}\right) = \left(-9\frac{9}{10}\right)$$

$$(-4)^{(-1)} - 1 = \left(-\frac{5}{4}\right) = \left(-1\frac{1}{4}\right)$$

$$5^0 + (-9) = (-8)$$

$$6^0 - 3 = (-2)$$

$$5^{(-1)} + 1 = \frac{6}{5} = 1\frac{1}{5}$$

$$10^0 - 3 = (-2)$$

$$(-9)^2 + 1 = 82$$

$$(-4)^2 - 10 = 6$$

$$8^{(-1)} + 8 = \frac{65}{8} = 8\frac{1}{8}$$

$$(-2)^2 + 5 = 9$$